

City of Kettering Bid Tabulation 03-948B West Ave Pedestrian Bridge

**Description** 5266-77750 PO#

## **Bid Summary**

(1) JTM Smith Construction	\$224,245.00	Displayed
Engineer's Estimate	\$234,254.50	Displayed
(2) LJ DeWeese	\$234,930.00	Displayed
(3) Brumbaugh Construction, Inc	\$239,000.00	Displayed
(4) RB Jergens Contractors, Inc.	\$269,023.93	Displayed
(5) Sunesis Construction	\$313,896.83	Displayed

## **Bid Tabulations**

				(1) JTM Smith (	Construction	Engineer's	Estimate	(2) LJ DeWeese		
Line Number	Item ID	Unit	Quantity	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	
Section: 1 - Roadway										
0010	201-1051	LUMP SUM	1.000	\$500.000	\$500.00	\$1,000.000	\$1,000.00	\$6,500.000	\$6,500.00	
CLEARING AN	D GRUBBING	, AS PER PLAN								
0020	202-2101	FOOT	13.000	\$40.000	\$520.00	\$20.000	\$260.00	\$30.000	\$390.00	
CONCRETE CU	URB AND GUT	TER REMOVED, AS PEI	R PLAN							
0030	202-3020	SF	65.000	\$10.000	\$650.00	\$5.500	\$357.50	\$8.000	\$520.00	
CONCRETE FL	ATWORK REN	MOVED (9" & UNDER)								
0040	203A-1102	СҮ	55.000	\$20.000	\$1,100.00	\$50.000	\$2,750.00	\$100.000	\$5,500.00	
EXCAVATION	AND EMBAN	KMENT, AS PER PLAN								
0050	503-1010	LUMP SUM	1.000	\$4,000.000	\$4,000.00	\$20,000.000	\$20,000.00	\$2,500.000	\$2,500.00	
UNCLASSIFIEI	D EXCAVATIC	ON, AS PER PLAN								
0060	503-2010	LUMP SUM	1.000	\$4,000.000	\$4,000.00	\$25,000.000	\$25,000.00	\$2,500.000	\$2,500.00	
COFFERDAMS	AND EXCAVA	ATION BRACING								
0070	509-1000	POUND	2,500.000	\$3.000	\$7,500.00	\$2.250	\$5,625.00	\$2.500	\$6,250.00	
EPOXY COATE	ED REINFORC	ING STEEL								
0080	511-2010	СҮ	21.000	\$1,400.000	\$29,400.00	\$1,200.000	\$25,200.00	\$1,250.000	\$26,250.00	
CLASS QC1 CONCRETE WITH QC/QA, ABUTMENT NOT INCLUDING FOOTING										
0090	511-2030	СҮ	21.000	\$1,400.000	\$29,400.00	\$1,000.000	\$21,000.00	\$1,750.000	\$36,750.00	
CLASS QC1 CC	NCRETE WIT	H QC/QA FOOTING								
0100	513-0030	LUMP SUM	1.000	\$117,355.000	\$117,355.00	\$100,000.000	\$100,000.00	\$110,000.000	\$110,000.00	

Bid Tabulations:

03-948B West Ave Pedestrian Bridge

		Unit		(1) JTM Smith	Construction	Engineer's l	Estimate	(2) LJ DeWeese	
Line Number	Item ID		Quantity	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
PREFABRICATED BRIDGE, AS PER PLAN									
0110	518-1000	СҮ	10.000	\$90.000	\$900.00	\$170.000	\$1,700.00	\$150.000	\$1,500.00
POROUS BACK	FILL WITH G	EOTEXTILE FAB	RIC						
0120	518-1060	FOOT	40.000	\$8.000	\$320.00	\$15.000	\$600.00	\$30.000	\$1,200.00
6" NON-PERFC	RATED CORR	UGATED PLAST	IC PIPE, INCLUDIN	G SPECIALS					
0130	601-1200	СҮ	46.000	\$180.000	\$8,280.00	\$70.000	\$3,220.00	\$175.000	\$8,050.00
ROCK CHANN	EL PROTECTI	ON, TYPE B, WIT	'H FILTER						
0140	608A-1000	SF	1,185.000	\$14.000	\$16,590.00	\$15.000	\$17,775.00	\$12.000	\$14,220.00
4" CONCRETE	SIDEWALK								
0150	609-1100	FOOT	13.000	\$60.000	\$780.00	\$59.000	\$767.00	\$100.000	\$1,300.00
KETTERING T	YPE B CONCR	ETE CURB AND	GUTTER						
0160	614-1001	LUMP SUM	1.000	\$2,000.000	\$2,000.00	\$7,500.000	\$7,500.00	\$6,500.000	\$6,500.00
MAINTAINING TRAFFIC, AS PER PLAN									
0170	659-0254	LUMP SUM	1.000	\$950.000	\$950.00	\$1,500.000	\$1,500.00	\$5,000.000	\$5,000.00
SEEDING AND MULCHING, INCLUDES 4" PROCESSED TOPSOIL, AS PER PLAN									
17 items			Section Totals:		\$224,245.00		\$234,254.50		\$234,930.00

Line Number	Item ID	Unit	Quantity	(1) JTM Smith C Unit Price	Construction Extension	Engineer's H Unit Price	Estimate Extension	(2) LJ Do Unit Price	eWeese Extension
17 items			Totals:		\$224,245.00		\$234,254.50		\$234,930.00

## **Bid Tabulations (cont'd)**

				(3) Brumbaugh Con	struction, Inc	(4) RB Jergens Con	ntractors, Inc.	(5) Sunesis C	onstruction	
Line Number Item ID Unit	Unit	Quantity	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension		
Section: 1 - Roadway										
0010	201-1051	LUMP SUM	1.000	\$1,500.000	\$1,500.00	\$2,500.000	\$2,500.00	\$17,994.830	\$17,994.83	
CLEARING AN	ND GRUBBIN	IG, AS PER PLAN								
0020	202-2101	FOOT	13.000	\$35.000	\$455.00	\$85.990	\$1,117.87	\$40.000	\$520.00	
CONCRETE C	URB AND GU	JTTER REMOVED, A	S PER PLAN							
0030	202-3020	SF	65.000	\$7.000	\$455.00	\$19.140	\$1,244.10	\$2.000	\$130.00	
CONCRETE FI	LATWORK R	EMOVED (9" & UND	ER)							
0040	203A-1102	CY	55.000	\$30.000	\$1,650.00	\$158.210	\$8,701.55	\$39.000	\$2,145.00	
EXCAVATION	N AND EMBA	NKMENT, AS PER PI	LAN							
0050	503-1010	LUMP SUM	1.000	\$10,000.000	\$10,000.00	\$6,334.810	\$6,334.81	\$14,568.000	\$14,568.00	
UNCLASSIFIE	ED EXCAVAT	ION, AS PER PLAN								
0060	503-2010	LUMP SUM	1.000	\$10,000.000	\$10,000.00	\$47,648.980	\$47,648.98	\$76,397.000	\$76,397.00	
COFFERDAMS	COFFERDAMS AND EXCAVATION BRACING									
0070	509-1000	POUND	2,500.000	\$1.500	\$3,750.00	\$2.330	\$5,825.00	\$3.000	\$7,500.00	
EPOXY COAT	ED REINFOR	CING STEEL								
0080	511-2010	СҮ	21.000	\$1,400.000	\$29,400.00	\$1,262.550	\$26,513.55	\$1,625.000	\$34,125.00	

				(3) Brumbaugh Construction, Inc		(4) <b>RB Jergens</b> Co	ontractors, Inc.	(5) Sunesis Construction	
Line Number	Item ID	Unit	Quantity	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
CLASS QC1 CONCRETE WITH QC/QA, ABUTMENT NOT INCLUDING FOOTING									
0090	511-2030	СҮ	21.000	\$800.000	\$16,800.00	\$1,137.950	\$23,896.95	\$977.000	\$20,517.00
CLASS QC1 CONCRETE WITH QC/QA FOOTING									
0100	513-0030	LUMP SUM	1.000	\$135,000.000	\$135,000.00	\$110,111.690	\$110,111.69	\$113,546.000	\$113,546.00
PREFABRICAT	ED BRIDGE,	AS PER PLAN							
0110	518-1000	СҮ	10.000	\$100.000	\$1,000.00	\$178.760	\$1,787.60	\$176.000	\$1,760.00
POROUS BACK	FILL WITH	GEOTEXTILE FA	BRIC						
0120	518-1060	FOOT	40.000	\$14.000	\$560.00	\$54.940	\$2,197.60	\$3.000	\$120.00
6" NON-PERFO	RATED COR	RUGATED PLAS	TIC PIPE, INCLU	JDING SPECIALS					
0130	601-1200	СҮ	46.000	\$100.000	\$4,600.00	\$157.530	\$7,246.38	\$105.000	\$4,830.00
ROCK CHANNI	EL PROTECT	TION, TYPE B, W	ITH FILTER						
0140	608A-1000	SF	1,185.000	\$10.000	\$11,850.00	\$8.710	\$10,321.35	\$9.000	\$10,665.00
4" CONCRETE	SIDEWALK								
0150	609-1100	FOOT	13.000	\$100.000	\$1,300.00	\$84.070	\$1,092.91	\$55.000	\$715.00
KETTERING TY	YPE B CONC	RETE CURB ANI	O GUTTER						
0160	614-1001	LUMP SUM	1.000	\$6,680.000	\$6,680.00	\$4,769.400	\$4,769.40	\$5,988.000	\$5,988.00
MAINTAINING TRAFFIC, AS PER PLAN									
0170	659-0254	LUMP SUM	1.000	\$4,000.000	\$4,000.00	\$7,714.190	\$7,714.19	\$2,376.000	\$2,376.00
SEEDING AND	MULCHING	, INCLUDES 4" P	ROCESSED TOP	SOIL, AS PER PLAN					
17 items			Section Totals:		\$239,000.00		\$269,023.93		\$313,896.83
17 items			Totals:		\$239,000.00		\$269,023.93		\$313,896.83